

Confidentiality Requested:

Yes No

Kansas Corporation Commission Oil & Gas Conservation Division

1201658

Form ACO-1
August 2013
Form must be Typed
Form must be Signed
All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R 🗌 East 🗌 West
Address 2:	Feet from
City: State: Zip:+	Feet from _ East / _ West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	GPS Location: Lat:, Long:
Name:	(e.g. xx.xxxxx) (e.gxxx.xxxxx)
Wellsite Geologist:	Datum: NAD27 NAD83 WGS84
Purchaser:	County:
Designate Type of Completion:	Lease Name: Well #:
☐ New Well ☐ Re-Entry ☐ Workover	Field Name:
Oil WSW SWD SIOW Gas D&A ENHR SIGW OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.): If Workover/Re-entry: Old Well Info as follows:	Producing Formation: Elevation: Ground: Kelly Bushing: Feet Total Vertical Depth: Plug Back Total Depth: Feet Multiple Stage Cementing Collar Used? Yes No If yes, show depth set: Feet
Operator:	If Alternate II completion, cement circulated from:
Well Name: Original Total Depth: Original Total Depth:	feet depth to: w/ sx cmt. Drilling Fluid Management Plan
☐ Plug Back ☐ Conv. to GSW ☐ Conv. to Producer	(Data must be collected from the Reserve Pit)
Commingled Permit #: Dual Completion Permit #:	Chloride content: ppm Fluid volume: bbls Dewatering method used:
☐ SWD Permit #:	Location of fluid disposal if hauled offsite:
ENHR Permit #:	Operator Name:
GSW Permit #:	Lease Name: License #:
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date	Quarter Sec. TwpS. R East West County: Permit #:

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY
Confidentiality Requested
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I II Approved by: Date:

Page Two



Operator Name:			Lease Name:			Well #:	
Sec Twp	S. R	East West	County:				
open and closed, flow	ring and shut-in pressu	ormations penetrated. Dres, whether shut-in pre	ssure reached stati	c level, hydrosta	tic pressures, bott		
		tain Geophysical Data a r newer AND an image f		gs must be ema	iled to kcc-well-lo	gs@kcc.ks.gov	v. Digital electronic log
Drill Stem Tests Taker (Attach Additional		Yes No			on (Top), Depth an		Sample
Samples Sent to Geo	logical Survey	☐ Yes ☐ No	Nam	9		Тор	Datum
Cores Taken Electric Log Run		Yes No					
List All E. Logs Run:							
		CASING Report all strings set-c	RECORD Ne conductor, surface, inte		ion, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
	5	ADDITIONAL	CEMENTING / SQU	EEZE RECORD			
Purpose: Perforate	Depth Top Bottom	Type of Cement	# Sacks Used		Type and P	ercent Additives	
Protect Casing Plug Back TD							
Plug Off Zone							
					¬		
	ulic fracturing treatment or otal base fluid of the hydra	n this well? aulic fracturing treatment ex	ceed 350,000 gallons	Yes ? Yes		p questions 2 an p question 3)	d 3)
		submitted to the chemical of	_	Yes		out Page Three	of the ACO-1)
Shots Per Foot		N RECORD - Bridge Plug		Acid, Fra	cture, Shot, Cement	Squeeze Record	i
Onots Fer Foot	Specify Fo	ootage of Each Interval Perf	orated	(Aı	mount and Kind of Ma	terial Used)	Depth
TUBING RECORD:	Size:	Set At:	Packer At:	Liner Run:	Yes No		
Date of First, Resumed	Production, SWD or ENH	R. Producing Meth	nod:				
		Flowing		Gas Lift C	Other (Explain)		
Estimated Production Per 24 Hours	Oil BI	bls. Gas	Mcf Wate	er B	bls. G	as-Oil Ratio	Gravity
DISPOSITION	ON OF GAS:	N.	METHOD OF COMPLE	TION:		PRODUCTIO	N INTERVAL:
Vented Solo		Open Hole	Perf. Dually	Comp. Cor	nmingled		
(If vented, Sui	bmit ACO-18.)	Other (Specify)	(Submit A	(Sub	mit ACO-4)		

Form	ACO1 - Well Completion
Operator	OXY USA Inc.
Well Name	COX MINERALS A 3
Doc ID	1201658

All Electric Logs Run

REPEAT LOG
ARRAY COMPENSATED TRUE RESISTIVITY LOG
BOREHOLE COMPENSATED SONIC ARRAY LOG
DUAL SPACED NEUTRON SPECTRAL DENSITY LOG
MICROLOG

Form	ACO1 - Well Completion
Operator	OXY USA Inc.
Well Name	COX MINERALS A 3
Doc ID	1201658

Tops

Name	Тор	Datum
HEEBNER	4136	
TORONTO	4162	
LANSING	4232	
KANSAS CITY	4647	
MARMATON	4776	
PAWNEE	4872	
CHEROKEE	4917	
ATOKA	5136	
MORROW	5186	
CHESTER	5301	
ST GENEVIEVE	5439	

Form	ACO1 - Well Completion
Operator	OXY USA Inc.
Well Name	COX MINERALS A 3
Doc ID	1201658

Casing

Purpose Of String	Size Hole Drilled	Size Casing Set	Weight	Setting Depth	Type Of Cement	Type and Percent Additives
SURFACE	12.25	8.625	24	1646	CEMENT C	SEE ATTACH ED
PRODUC TION	7.875	5.5	17	5593	50-50 POZ	SEE ATTACH ED

ALLIED OIL & GAS SERVICES, LLC 053080 Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT: Liberal (21)
DATE 2-26-14 11 28 33	ALLED OUT ON LOCATION JOB START JOB FINISH 6:00 T 200 am
COX LEASE Minerals WELL# 3 LOCATION 10 mi	le North of Sublette Ka Hoskell KS
CONTRACTOR Aztec Drilling # 507	OWNER
TYPE OF JOB Surface HOLE SIZE 12-4 T.D.	CEMENT
CASING SIZE 8 DEPTH 1646	
TUBING SIZE DEPTH	AMOUNT ORDERED 350sis Class C, 3xCC, digypso 2x Actso, 14 Floseal, 245sx Class C, 2xCC,
DRILL PIPE DEPTH	4 floseal
TOOL DEPTH	-17 110,Lu1
PRES. MAX MINIMUM	COMMON @
MEAS. LINE SHOE JOINT 38.90	POZMIX@
CEMENT LEFT IN CSG.	GEL @
PERFS.	CHLORIDE 18 sk @ 64.00 1,152.00
DISPLACEMENT 102.3 BBL	ASC@
EQUIPMENT	Floscal 149-16 @ 2-97 442-53
	CCAP Class C 24551x @ 24-40 5,978,00
PUMPTRUCK CEMENTER Aldo Espinoza	AND Noty Byo. Chric 3505@ 31.00 10,850,00
# 700-686 HELPER CESON POVIO	SA-51 6616 @ 17.55 1,158.30
BULK TRUCK	Salt 7 sk @ 26.35 184.45
# 869-841 DRIVER Ruben Percz	@
BULK TRUCK	@
# 472-554 DRIVER Algiandro Ayala	@
	HANDLING 648 CUPT @ 2-48 1,607.04
DEMARKS.	MILEAGE 1472-70 rannik 2-60 3, 829.00
REMARKS:	TOTAL 25,201.34
LEASENVELLIPAC COX MINERS AZ	SERVICE
MAXIMO I WOLL #	
0102 3023	DEPTH OF JOB 1646
PROJECT # [18014] CAPEX / CPEX - Chicle one	PUMP TRUCK CHARGE 2, 2-13-75
Circl Spe Type C 12: My WSUPPORTED EI	EXTRA FOOTAGE @
SIGNATURE COME BUILD	MILEAGE Light 50mi@ 4.40 22000
certify that these Services/Ma erials have been received	
	MANIFOLD and head 1 @ 275.00 2-75.00
	Heavy Vehicle 50 @ 7.70 385.00
	MANIFOLD and New 1 @ 475.00 6-75.00 Heavy Vehicle 50 @ 7-70 385.00 @
CHARGE TO: OXY USA, Hugoton Quantions	Heavy Vehicle 50 @ 7-70 385.00
	Heavy Vehicle 50 @ 7.70 385.00
CHARGE TO: <u>OXY USA</u> , <u>Hugoton Aproations</u> STREET	Heavy Vehicle 50 @ 7-70 385.00
CHARGE TO: DXY USA, Hugoton agreetions	Heavy Vehicle 50 @ 7-70 385.00
CHARGE TO: <u>OXY USA</u> , <u>Hugoton Aproations</u> STREET	Heavy Vehicle
CHARGE TO: <u>OXY USA</u> , <u>Hugoton Aproations</u> STREET	Heavy Vehicle
CHARGE TO: <u>DXY USA</u> , <u>Hugo ten Aproafiens</u> STREET CITYSTATEZIP	Heavy Vehicle 50 @ 7.70 385.00 TOTAL 3,093.75 PLUG & FLOAT EQUIPMENT Guide Shoe 1 @ 460.98 460.98 Place Place 1 @ 446.94 446.94
CHARGE TO: DXY USA, Hugoton Operations STREET CITY STATE ZIP To: Allied Oil & Gas Services, LLC.	Heavy Vehicle 50 @ 7.70 385.00 @
CHARGE TO: DXY USA, Hugo ton Operations STREET CITY STATE ZIP To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment	Heavy Vehicle 50 @ 7.70 385.00 @
CHARGE TO: OXY USA, Hugo ten Operations STREET CITY STATE ZIP To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	Heavy Vehicle 50 @ 7.70 385.00 TOTAL 3,093.75 PLUG & FLOAT EQUIPMENT Guide Shoe 1 @ 460.98 460.98 Place Place 1 @ 446.94 446.94
CHARGE TO: OXY USA, Hugoten Quartiens STREET CITY STATE ZIP To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	Heavy Vehicle 50 @ 7.70 385.00 @ TOTAL 3,093.75 PLUG & FLOAT EQUIPMENT Guide Shae 1 @ 460.98 460.98 Flapper Plant Value 1 @ 446.94 446.94 Centralizer 14 @ 74.88 1.048.32 Stop Collar 1 @ 56.16 56.16
CHARGE TO: OXY USA, Hugoten Quartiens STREET CITY STATE ZIP To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	Heavy Vehicle 50 @ 7.70 385.00 @
CHARGE TO:	Heavy Vehicle 50 @ 7-70 385.00 TOTAL 3,093.75 PLUG & FLOAT EQUIPMENT Guide Shoe 1 @ 460.98 460.98 Plapper Plant Value 1 @ 446.94 446.94 Centralizer 14 @ 74.88 1.048.32 Stop Collar 1 @ 56.16 56.16 TOTAL 2012.40 1
CHARGE TO: OXY USA, Hugoten Quartiens STREET CITY STATE ZIP To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	Heavy Vehicle 50 @ 7-70 385.00 @
CHARGE TO:	Heavy Vehicle 50 @ 7-70 385.00 @
CHARGE TO: OXY USA, Hugoten Quartiens STREET	#Easy Vehicle 50 @ 7.70 385.00 TOTAL 3,093.75 PLUG & FLOAT EQUIPMENT Guide Shoe @ 460.98 460.98 Plapper Plant Value @ 446.94 446.94 Centralizer 14 @ 74.89 1.048.32 Stop Collar @ 56.16 56.16 TOTAL 2012.40 1 SALES TAX (If Any) TOTAL CHARGES 30, 307.49
CHARGE TO:	#Easy Vehicle 50 @ 7.70 385.00 TOTAL 3,093.75 PLUG & FLOAT EQUIPMENT Guide Shoe @ 460.98 460.98 Plapper Plant Value @ 446.94 446.94 Centralizer 14 @ 74.89 1.048.32 Stop Collar @ 56.16 56.16 TOTAL 2012.40 1 SALES TAX (If Any) TOTAL CHARGES 30, 307.49
CHARGE TO: OXY USA, Hugoten Quartiens STREET	Heavy Vehicle 50 @ 7.70 385.00 @ TOTAL 3,093.75 PLUG & FLOAT EQUIPMENT @ 460.98 460.98 446.94 446.94 446.94 446.94 446.94 446.94 446.94 6 74.88 1,048.32 @ 56.16 56.16 Society 6 56.16 56.16 Society 700 56.16 56.16 Society 56.16 TOTAL 2012.40 7 TOTAL CHARGES 30,307.49 TOTAL CHARGES 30,307.49

ALLIED OIL & GAS SERVICES, LLC 053082 Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:
DATE 3-3-14 11 285 33 W	CALLED OUT ON LOCATION JOB START JOB FINISH 12:00 em 1:00 em
LEASE Minerals WELL# 3 LOCATION 12 mile	COUNTY STATE
OLD OB NEW (Circle and)	a North of Sublette 145 Hoskell K.S
OLD OR NEW (Circle one) ot ca go, west	, CR-KK Nort, East into
CONTRACTOR Aztec #507	OWNER
TYPE OF JOB Production	OTTIBLE
HOLE SIZE 7 % T.D.	CEMENT
CASING SIZE 5 6 DEPTH 5596	AMOUNT ORDERED J-90sk Class H. 50/50.
TUBING SIZE DEPTH	2/1921, -2/10-31, -5/1 R-160, 5/940 Soil,
DRILL PIPE DEPTH	lox salt, .25% Floscal, . 5% Kol scal.
TOOL DEPTH	*
PRES. MAX MINIMUM	COMMON@
MEAS. LINE SHOE JOINT 40 CEMENT LEFT IN CSG.	POZMIX@
PERFS.	GEL Gilsonite 145016@ .98 1,421.00
DISPLACEMENT 128.8 PBL	CHLORIDE@
100.0 1386	ASC
EQUIPMENT	50/50, Class H 390 st @ 16.85 4, 986.50 Super Flush 12 am @ 58.70 704.40
	Super Flush 12 mm @ 58.70 704.41 Gyp seal 25 sh @ 37.60 940.00
PUMPTRUCK CEMENTER Aldo Espinoza	Salt 18 sh @ 26.35 474.36
# 700 -686 HELPER Heriberto Valenzuela	Ploseal 73 16 @ 2-97 716.8
BULK TRUCK	FL-160 122 16 @ 18.90 2.305.8
# 205-B642- DRIVER Biardo Janda BULK TRUCK	CD-31 49 16 @ 10,30 504.76
# DRIVER	@
T DRIVER	HANDLING 390.74 CUFT @ 2-48 969.04
	MILEAGE 736.53 For mile 2-60 1, 914.9
AP LOCATION/DEPT. LIB COL DOZUNON DOZU	TOTAL 14,337.55
LEASE/WELL/FAC Cox Minerals A3	ė.
MAXIMO / WSM #	SERVICE
TASK 0/02 ELEMENT 3023	
PROJECT# 1/8 0/42 CAPEX/OPEX Circle one	DEPTH OF JOB5596
SPO / BPA UNSUPPORTED D	PUMP TRUCK CHARGE 3,099.25
SIGNATURE: Sene (3) lby.	EXTRA FOOTAGE@
Certify that these Services/Materials have been received	MILEAGE Light 50 @ 4.40 220,06
	MANIFOLD / @ 275.00 2-75.00
	Heavy Vehicle 50 @ 7.70 385,00
	@
CHARGE TO: OXY USA Hugoton Opera	
	TIONS.
Property of the Control of the Contr	TIONS. TOTAL 3,929.25
STREET	TOTAL 3,977.65
Property of the Control of the Contr	TOTAL 3,977.65
STREET	TOTAL 3,977.25
STREET	3° 9 PLUG & FLOAT EQUIPMENT
STREET	3° 90 PLUG & FLOAT EQUIPMENT Golde Shor @ 38080 38080
CITYSTATEZIP	30 90 PLUG & FLOAT EQUIPMENT Golde Shar @ 48280 480.80 AFW Float Value @ 334.62 334.63
CITYSTATEZIP To: Allied Oil & Gas Services, LLC.	30 PLUG & FLOAT EQUIPMENT Goide Shor @ 28080 28080 AFW Float Value @ 334.62 334.64 Cantralizes 20 @ 57.33 1,146.66
CITYSTATEZIP To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment	TOTAL 3,977.25 30 PLUG & FLOAT EQUIPMENT Goide Shar @ 28080 280.80 AFW Float Ublue @ 334.62 334.62 Centralizes 20 @ 57.33 1,146.60 Stop Collar @ 49.14 49.14
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	30 PLUG & FLOAT EQUIPMENT Goide Shor @ 28080 28080 AFW Float Value @ 334.62 334.64 Cantralizes 20 @ 57.33 1,146.66
CITYSTATEZIP To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment	TOTAL 3,979.25 30 PLUG & FLOAT EQUIPMENT Goide Shor @ 28080 28080 AFW Float Ublue @ 334.62 334.62 Contra lizes 20 @ 57.33 1,146.66 Stop Collar @ 49.14 49.14 Top Kubba Plug @ 85.41 85.41
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	TOTAL 3,979.25 30 PLUG & FLOAT EQUIPMENT Goide Shor @ 28080 28080 AFW Float Ublue @ 334.62 334.62 Contra lizes 20 @ 57.33 1,146.66 Stop Collar @ 49.14 49.14 Top Kubba Plug @ 85.41 85.41
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	TOTAL 3,979.65 30 PLUG & FLOAT EQUIPMENT Goide Shor @ 28080 280.80 AFW Float Value @ 334.62 334.62 Centralizes 20 @ 57.33 1,146.60 Stop Collar @ 49.14 49.14 Top Kubbu Plug @ 85.41 85.41 TOTAL 1,896.57
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	TOTAL 3,979.65 30 PLUG & FLOAT EQUIPMENT Goide Shor @ 28080 280.80 AFW Float Walve @ 334.62 334.63 Centralizes 20 @ 57.33 1,146.60 Step Collar @ 49.14 49.14 Top Kubbu Plug @ 85.41 85.41 TOTAL 1,896.57 SALES TAX (If Any)
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	TOTAL 3,979.65 30 PLUG & FLOAT EQUIPMENT Goide Shor @ 28080 280.80 AFW Float Walve @ 334.62 334.63 Centralizes 20 @ 57.33 1,146.60 Step Collar @ 49.14 49.14 Top Kubbu Plug @ 85.41 85.41 TOTAL 1,896.57 SALES TAX (If Any)
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	TOTAL 3,979.25 30 PLUG & FLOAT EQUIPMENT Goide Shor @ 28280 28080 ARW Float Value @ 334.62 334.62 Centralizes 20 @ 57.33 1,146.66 Stop Colleg @ 49.14 49.14 Top Kubbu Plug @ 85.41 85.41 TOTAL 1,896.57 SALES TAX (If Any) TOTAL CHARGES 20, 213.35
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	TOTAL 3,977.25 30 PLUG & FLOAT EQUIPMENT Goide Shor @ 28280 28080 APW Float Value @ 334.62 334.63 Centralizes 20 @ 57.33 1,146.66 Stop Collar @ 49.14 49.14 Top Kubbu Plug @ 85.41 85.41 TOTAL 1,896.57 SALES TAX (If Any) TOTAL CHARGES 20, 213.35 DISCOUNT IF PAID IN 30 DAYS
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side. PRINTED NAME	TOTAL 3,777.25 30 PLUG & FLOAT EQUIPMENT Goide Shor @ 28280 28080 APW Float Value @ 334.62 334.62 Centralizes 20 @ 57.33 1,146.66 Stop Colleg @ 49.14 49.14 Top Kubber Plug @ 85.41 85.41 TOTAL 1,896.57 SALES TAX (If Any) TOTAL CHARGES 20, 213.35 DISCOUNT IF PAID IN 30 DAYS
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	TOTAL 3,977.25 30 PLUG & FLOAT EQUIPMENT Goide Shor @ 28280 28080 ARW Float Value @ 334.62 334.63 Centralizes 20 @ 57.33 1,146.66 Stop Colleg @ 49.14 49.14 Top Kubbu Plug @ 85.41 85.41 TOTAL 1,896.57 SALES TAX (If Any) TOTAL CHARGES 20, 213.35